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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. Then mark the correct choice on your answer sheet. '

1- The questionnaire was intended to --------- information on eating habits.
1) retain 2) survey 3) elicit 4) presume
2- The prime minister has called on the public to ---------- behind the government.
1) rally 2) denote 3) pursue 4) underlie
3- College life opened up a whole ---------- of new experiences.
1) core 2) gamut 3) exposure 4) appreciation
4- The discovery of the new planet gave fresh ---------- to research on life in outer space.
1) status 2) scheme 3) impetus 4) domain
5- It was -—---—-— of me to forget to give you the message,
1) patfall 2) remiss 3) obstacle 4) mhibition
6- The number of old German cars still on the road - to the excellence of their
manufacture.
1) traces 2) orients 3) restores 4) attests
7- Age alone will not ---------- them from getting admission te this university.
1) react 2) distort 3) conduct 4) preclude
8- New technology, the main ---------- of the 1980s, has been a mixed blessing.
1) legacy 2) surplus 3) expansion 4) circumstance
9- I'm sure my university days appear happier in -------—- than they actually were at the
time.
1) procedure 2) proportion 3) retrospect 4) approximation
10- Even a(n) -------- -- glance at the figures will tell you that sales are down.
1) cursory 2) implicit 3) marginal 4) sustainable

I PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3), or
A (4) best fits each space. Then mark the correct choice on your answer sheet.

A map is always smaller than the real world which it represents. The difference (11) ---------
between the map and the Earth’s surface (12) - a scale ratio. For example, the scale
ratio  1:50,000 states that one unit of measurement on the map is (13) -———— fifty thousand
such units on the ground. Therefore, orie centimeter on the map amounts to 50,000 centimeters
(500 meters) (14) —--------- the ground.

A map at a large scale, (15) ---------- 1:10,000, will show a small area of the Earth’s surface
in eonsiderable detail. A small-scale map, will show a much larger area, but in much less
detail.
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11-1) in size 2) as size 3) from sizes 4) for sizes
12- 1) expresses 2) is expressing
3) is expressed by 4) will be expressed by
13- 1) equally to 2) equally with 3) equal with 4) equal to
14-1) in 2) on 3) over 4) under
15- 1) simalar 2} such as 3) being like 4) the same as

| Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4). |
Then mark it on your answer sheet. '

PASSAGE 1

There are three known genetic mutations responsible for the various types of sweet comn. Early
varieties, such as those used by Native Americans, were the result of the mutant su ("sugary”)
allele. They contain about 5-10% sugar by weight. Supersweet corn are varieties of sweet com
which produce higher than normal levels of sugar. They were first developed in the US by
professor John Laughnan, He was investigating two specific genes in sweet com, one of which,
the sh2 gene, caused the com to shrivel when dry. After further investigation Laughnan
discovered that the endosperm of sh2 sweet com kemels store less amounts of starch and from
4 to 10 times more sugar than normal sw sweet com. He published his findings in 1953,
disclosing the advantages of growing supersweet sweet corn, but many corn breeders lacked
enthusiasm for the new supersweet corn. Supersweet was finally released commercially as
Illini Xtra Sweet, but widespread use of its hybrids did not occur until the early 1980s. The
popularity of supersweet corn rose due to its long shelf life and large sugar content when
compared to conventional sweet corn, This has allowed the long-distance shipping of sweet
corn and has enabled manufacturers to can sweet corn without adding extra sugar or salt. The
third gene mutation to be discovered is the se or "sugary enhanced” allele, responsible for so-
called "Everlasting Heritage" varieties, such as Kandy Korn. Varieties with the se alleles have
a longer storage life and contain 12-20% sugar compared to su varieties. All of the alleles
responsible for sweet corn are recessive, so it must be isolated from any field corn varieties that
release pollen at the same time.

16. The passage mentions that.............

1. wvarious types of sweet corn contain 3-10% sugar

2. aspecific gene in sweet corn causes it to shrivel

3. Native Americans were interested in the sugary sweet com

4. each type of sweet corn has three genetic mutations
17. 1t is staied in the passage that.............
professor Laughnan developed two specific genes in sweet com
sugar levels of sweet eorn are naturally lower than normal
sugary allele of sweet corn was first discovered in the US
su SWeet com contains more starch than sh2 sweet corn

ol -
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18. We may understand from the passage that one of the problems with the ordinary
sweet corn was how to.....ccocnnnee
1. transport it over long distances
2. to produce it cheaply
3. use it in the food industry
4. make it more resistant to pests
19. Which of the following statemenis is TRUE according to the passage?
1. Manufacturers used to sweet comn without adding extra sugar.
2. Recessive alleles for sweet comn release pollen at the same time.
3. IHMini Xtra Sweet contains less sugar than Kandy Korn.
4. supersweet did not have many hybrids until the early 1980s.
20. The word “disclose’ in the passage (underlined) is closest t0.......cocevieee
1. ‘show’
2. ‘invent’
3. 'hst’
4. ‘deal with’

EASSAGE2

Sharecropping has benefits and costs for both the owners and the croppers. It encourages the
cropper to remain on the land throughout the harvest season to work the land, solving the
harvest rush problem. At the same time, since the cropper pays in shares of his harvest, owners
and croppers share the risk of harvests being large of small and prices being high or low.
Because tenants benefit from larger harvests, they have an jncentive to work harder and invest
in better methods than in a slave plantation system. However, by dividing the working force
into many individual workers, large farms no longer benefit from economies of scale. On the
whole, sharecropping was not as economically efficient as the gang agriculture of slave
plantations. The advantages of sharecropping in other situations include enabling access for
women to arable land where ownership rights are vested only in men. Sharecropping came into
wide use in the Southern United States during the Reconstruction era (1865-1877). The South
had been devastated by war; planters had ample land but little money for wages or taxes. At the
same time most of the former slaves had labour but no money and no land; they rejected the
kind of gang labour that typified slavery. The solution was the sharecropping system focused
on cotton, which was the only erop that could generate cash for the croppers, landowners,
merchants and the tax collector. Poor white farmers, who previously had done little cotton
farming, needed cash as well and became sharecroppers. There is a distinction between
centralised sharecropping found on cotton plantations and the decentralised sharecropping with
other crops. The former 1§ characterised by political conservatism and long lasting tenure.
Tenants are tied to the landlord through the plantation store.

21. We understand from the passage that sharecropping........ccceuruins
1. causes very little risk to harvests
2. is often too costly for the cropper
3. has more benefits than costs
4. close to slave plantation systems
22. The passage points to the faci that the American South doring the Reconstruction era....
took advantage of gang labour
depended only on a single crop
was planted mostly by women
had only a few large landowners

e 2 b
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23, Itis NOT TRUE that sharecropping.......coueeeevu %
1. was mainly limited to poor black farmers in the US
2. could also enable access for women to arable land
3. was not as economically efficient as the gang agriculture
4. does not enjoy the benefits of economies of scale
24. The passage mention sharecroppers worked longest on a plantation in/on....cemsmse.
1. decentralised sharecropping
2. cotton farming
3. centralised sharecropping
4. economically efficient farms
25. The word ‘incentive’ in the passage (underlined) is best related to the word................ =
1. *hope’
2. ‘pay’
3. ‘cost’
4. ‘grow’

PASSAGE 3

Grafting is a method of asexual plant propagation widely used in agriculture and horticulture
where the tissues of one plant are encouraged to fuse with those of another. It is most
commonly used for the propagation of trees and shrubs grown commercially. In most cases,
one plant 15 selected for its roots, and this is called the stock or rootstock. The other plant 1s
selected for its stems, leaves, flowers, or fruits and is called the scion. The scion contains the
desired genes to be duplicated in future production by the stock/scion plant. In stem grafting, a
common grafting method, a shoot of a selected, desired plant cultivar is grafted onto the stock
of another type. In another common form called budding, a dormant side bud is grafied on the
stem of another stock plant, and when it has fused successfully, it is encouraged to grow by
cutting out the stem above the new bud. For sucgessful grafting to take place, the vascular
cambium tssues of the stock and scion plants must be placed in contact with each other. Both
tissues must be kept alive until the graft has taken, usually a period of a few weeks. Successful
grafting only requires that a vascular connection take place between the two tissues. A physical
weak point often still occurs at the graft, because the structural tissue of the two distinct plants,
such as wood, may not fuse. A common type of grafting is approach grafting or inarching is
used to join together plants that are otherwise difficult 1o join. The plams are grown close
together, and then joined 8o that each plant has roots below and growth above the point of
union. Both scion and stock retain their respective parents that may or may not be removed
after joining,.

26. The passage mentions that...................
1. trees and shrubs are seldom propagated for commercial purposes
2. asexual plant propagation is a very common method of grafting
3. tissues of one plant easily fuse with those of another in horticulture
4. in grafting the scion contains the desired genes to be duplicated
27. We may understand from the passage that................. :
rootstocks contain the necessary material for a plant’s growth
budding, cultivar and scion basically serve the same function
a shoot of cultivar can grafted onto several stocks of another type
plants grow best by cutting out the stem above new buds

B L B e



28. The passage points to the fact that successful grafting
OMuassrrrsssanenesnss-OF the two parts grafted.
. selected shoots

2. genetic fusion

3. vascular cambium

4. rootstocks

ak

-

29. One of the features with approach grafting is that the plants................

1. are planted far away from each other

2. produce two scions each

3. are always removed after joining

4. are not cut off from their parent plant
30. The word ‘respective’ in the passage (underlined) is closest to...
. *healthy’
2. ‘separate’
3. ‘flowered’
- ‘sleeping’
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